F+mEEL
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XMETHER 3 MNERBRARNEEER S 30 Z T 30%, 30-60 %4 40%, 60 %

Mt & 30%, HRERSIEREFLTHNRAESNDERERRL?

30 LR 3060 % 60 %Ll L

O 5 5 40

E 15 20 15

(E—0)> 100 225 625
2 = + +
E 15 ' 20 15

x2=3 = 6.66 + 11.25 + 41.66 = 59.57

Df=2, a=0.05, x?lIg5{E=5.99<5957, BEREWT NEEZNEHBERE

2. MHIREXRVMERRKS A, BEABIHNIEKSER, &FXOMERRKS A,

BREIABEREX’

ICER SR shhE T©ohEER 21t
ATIAFE 38 29 43 60 170
BEIAFM 18 22 14 126 180
2t 56 51 57 186 350

DR shEkEEdE sfE B OLEER
ABIAFE 272 24.8 27.7 90.3
BEIAIE 2838 26.2 29.3 95.6




(E—-0)?
222
X E
_116.6 74.1 234.1 918.1 1166 17.6 767.3 924.2

272 +24.8+ 27.7 * 90.3 * 28.8 +26.2+ 29.3 * 95.6
= 66.5

Df=3+3=9, «=0.05, x’lI5R{E=16.92<66.5 KX HMEEKS A/BEIAIRE

x



